Math 001-03, Quiz2 (R.3-R.5), Term 152 , Instructor: Sayed Omar, Pagel 09-Feb-16
Serial #: ID NAME
Show all necessary steps for full marks.

2

Question 1: (5 points): Given the polynomial f (x) =(3x 2 - 2) (2x 2 X —3)(2x X + 3)
(a): Write down the following :
(b): Writef (x) instandard form.

The leading coefficient | The constant Term | The coefficient of x° | Degree

Solution (a):
f (x):(3x2—2)2—(2x2—x —3)(2x2—x +3)

:9x4—12x2+4—[(2x2—x)—3][(2x2—x)+3]
:9x4—12x2+4—[(2x2—x)2—31
:9x4—12x2+4—[4x4—4x3+x2—9]
=5x*+4x°-13x ? +13

(b):
The leading coefficient | The constant Term | The coefficient of x* | Degree
5 13 -13 4

3 ny?
XTZAX L e mx 4234

. find m and n.
X +2 X +2

Question 2: (5 points): If 4
Solution:

4x % —11x + 23
X +2>4x3—3x2+x +1

A% 3 +8x 2

—11x % + X
~11x 2 — 22x

+ +

23x +1
23X +46

45

3 2 _
4x° —3X “+X +1:4x2—11x 934 45
X +2 X +2

If find m and n.
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Question 3: (4 points) (R.4 Textbook Exercise 23): Factor completely p’q*—-10—-2q° +5p?

Solution:

23. pigt -10-24" +5p°
= p’¢* =24 +5p7 - 10
=q7(p*-2)+5(p* -2)
=(p* -2(g" +5)

Question 4: (3 points) (R.4 Textbook Exercise 40): Factor completely 18x ° +15x ‘z — 75x °z

Solution:

40. First, factor out the greatest common factor,
37

18x° + Iﬁfz — ?5x332 = 3% (fu'z +5x7— 2522.]

Now factor the trinomial by trial and

error: 6x” +5x7— 257" = (3x—5z)(2x + 5z z)

Thus,

18x° +15x*2 - 75622 =3 3(& +5xz—252%)
=32 (3x—52) (20 +52)

L.h

Question 5: (3 points) (R.4 Textbook Exercise 97): Factor 64+ (3x +2)°
Solution:
97. 64+ (3x+2)

=4 +(3x+2)

=[4+(x+2)] 4~ (4)(3x+2)+ (r+2)’

s E ) |

- +9x% +12x +4
= (4+3x+ )(]h—lh—8+9x +12x+4)
(3x+6)(9x +12)
3(x+2)(3)(30% +4) =9 (x+2) (357 + 4
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